Practice Test
Exponents

By’ 5
20 If (.1r+l)2 =9 . then (x—i)“ =
S(a—b)* X X
Which of the following is equivalent to the A) 3
expression shown above?
B) 5
A) §@*) a7
D) 9
B) 8%
C) 1 6a+b
D) 16%
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If 8° -8 3 = — . what is the value of m ?
2m’n— mnp—6m+3p 4
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Which of the following is equivalent to the 3
expression shown above? B) —4
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A) (2m—n)(mp-3) O 3
B) (2m— p)(mn-3) D) 4
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D) (2m—n)(mn—-3p)
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If ¥'2 =32n* and x° =4n. then x =
A) 2n
B) 2n

C) 4n
D) 4n
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(3x° —2x2 =Ty —(=2x2 + 6x+2)

Which of the following is equivalent to the
expression shown above?

A) 3(x°+2x-6)
B) 3(x*-2x-9)
C) 3(x*+2x-3)

D) 3(x° -2x-3)

Ox —(x—=3)(x+12)

Which of the following is equivalent to the
expression shown above?

A) 36-18x—x

B) 36+12x—x°

C) (6—x)6+x)

D) (6-x)°

(2.1x107)(2x10%)
I
7%10

value of n?

=6x10". what is the

3 1
If a* =8, what is the valueof @ 2?7
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X" —x-a

—=x+1-
x-2 x—2

In the equation above. what is the value of a ?
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Exponents
2. B
2m’n - mnp—6m+3p
= (2m*n—mnp) —(6m—3p)
=mn(2Zm—p)—3(2m—p)
=(2m—-p)(mn-3)
3. A
(a+b)2 (a—b)z_(aurb)z (a—b)
2 2 4 4
_ag+2rrb+i')2 a® —2ab +b*
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(x+—)" =9
X
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X“+2x-—+(—)" =9
X ox
r2+2+—j=9
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X" +— =7
x
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(x—) =x" -2x—+—
X X x
2 5 1 2
=X —at+—5=X +—5—=
x° X
=7-2=5 Substitute 7 for x1+—2=?
X
5. D
&2 8 485 4 4
g§3.83=g33=g3 =(23) 3
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If8%.83=— then m=4.
6. D
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Answers

Exponents
7. A s 4
2 (a*)? = (&)
Given x'? =32n* and x° = 4n. 4
2 =320 a=(2%)73
12 4
X 32n — o4
— =% Divide each side by . a=2
X X 1 1 1 1
ef 2oy 2= =
s 325 o Therefore. a (2%) 2 SR
r=— Simplify. =
X
320 12.10
X = Substitute 4n for x° .
4 2
4n X ox-a_
< =gn’ Simplify. 2 TS
(.1()3 = (2??)3 8n’ = (2n)? Multiply each side of the equation by x—2.
2
Therefore. x=2n. oy YA s 8
(- 1= - Dlx -]
8. D = x—x—a=(x-2)(x+1)-8
(3x° —2x7 = T)—(—2x% +6x+2) = x’-x-a=x"-x-2-8
=38 — 227 — 74220 —6x—2 = & -x-a=x"-x-10
=35’ —6x-9 Since the constant terms have to be equal on both
—3(x° —2x-3) sides of the equation. a =10.
9. C

Ox—(x=3)(x+12)
=9x—(x” +9x—36)
—0x—x? —9x+36
=36-x
=(6—x)6+x)

10. 5

(2.1x1073)(2%10%)
7x107*
4.2%10°
" 7x10
_4.2x10° x10* 1

- —n

! a

=0.6x107 x10*
=0.6%10°
=6x10°

” (2.1x107)(2%10%)

=6x10",then n=35.
7x107*
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